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Ideals for irreducible component#ﬂ)f Xpar

I = (u' — a4 = 2u+ 1)
= (b +2u* +u® +u? +u—1)

* 2 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (u'® — u'® + Tu'® — Tu'® 4 20u'? — 20wt 4 270! — 270 + 1248 —
12u” — 8ub + 8u® — 6u* + 6u® + 3u? — 2u + 1)
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'® — 4u'? + 28u!® — 24u!? + 76ult — 5610 + 88u? — 52u® +
8u” + 4ub — 64u® + 28u* — 24u® — 4u? + 20u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Co,Cr w a4 2u+1
c3,Cq,C8 u16_’_2u15+_._+u+2
C9
= w4+ 9ut 4 2u 1
c5,C10 w4+ w41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Ct Yo+ 13y + - 2y + 1
€3,C6,C8 Y& — 18y + ... 419y + 4
Cg
¢4 Yo =3y 4+ —2y+1
€5, €10 YOy 2y 41




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u= 0.913611 4 0.0240791

—12.72960 — 4.859721

—13.14726 + 3.117891

= 0.913611 — 0.0240791

—12.72960 + 4.859721

—13.14726 — 3.117891

u= 0.186298 4 1.2385601

2.77285 — 2.459231

—2.72504 + 3.253821

u= 0.186298 — 1.2385601

2.77285 + 2.459231

—2.72504 — 3.253821

= 0.048176 + 1.2784701

4.14984 — 1.950721

—0.93886 + 4.170421

u= 0.048176 — 1.2784701

4.14984 + 1.950721

—0.93886 — 4.170421

u = —0.255012 + 1.2835701

0.60263 + 6.609371

—6.51664 — 7.406631

u = —0.255012 — 1.2835701

0.60263 — 6.609371

—6.51664 + 7.406631

u = —0.650102 + 0.1279201

—3.75337 + 3.372921

—12.93248 — 5.208881

u = —0.650102 — 0.1279207

—3.75337 — 3.372921

—12.93248 + 5.208881

u = —0.427423 4 1.2818701

—4.90049 + 4.734801

—6.47201 — 3.022891

u = —0.427423 — 1.2818701

—4.90049 — 4.734801

—6.47201 + 3.022891

u= 0.434047 4 1.3037601

—8.59381 — 9.675141

—9.50822 + 5.976781

u= 0.434047 — 1.3037601

—8.59381 4 9.675141

—9.50822 — 5.976781

u = 0.250406 + 0.3423211

—0.577111 — 1.0843801

—7.75949 4 5.901271

u=0.250406 — 0.3423211

—0.577111 4 1.0843801

—7.75949 — 5.901271




IL. 1Y = (u® + 2u* + u + v’ +u—1)

(i) Arc colorings
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(ii) Obstruction class = —1

(iii) Cusp Shapes = —10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy

c1,Ca,C
e ul+2ut — P +u® —u—1

C7,C10
c3,Cq, C
356, C8 (uZ—u—1)3

C9
. )
C4 w4+ 4u® + 6ut + P —5u® —3u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €2, G5 y® + 4y + 6yt + 92 -5yt -3y + 1
€7, C10
C3,Cg, C8 (yQ _ 3y + 1)3
Cy
Ca Y% — 4y +18y* — 35¢° + 43y% — 19y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol ++/—1CS) Cusp shape
u = —0.896795 —8.88264 —10.0000
u = —0.248003 + 1.0883601 —0.986960 —10.0000
u = —0.248003 — 1.0883601 —0.986960 —10.0000
u= 0.448397 + 1.2661701 —8.88264 —10.0000
u= 0.448397 — 1.2661701 —8.88264 —10.0000
u = 0.496006 —0.986960 —10.0000




ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1, 2,07 (ub +2u* —ud +u? —u—1)(u!S +ul® - 2u1)
€3, C6,C8 ((u2—u—1)3)(u16+2u15+-~-+u+2)
Co
C4 (u® + 4u® + 6u* +u® — 5u? — 3u + 1)(u'® +9u'® + - 4 2u+ 1)
¢s, C10 (b +2u* —ud +u? —u— 1) (! +ul® - U 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,e2,c7 (y° +4y° +6y* +y° — 5y — 3y + )(y"* + 13y + - + 2y + 1)
O (0P =3y + 1)) (' — 18y 4 19y +4)
C9
€ (v° =4y’ + - =19y + 1)(y"° =3y + - =2y + 1)
€5, €10 (y° +4y° +6y* +y° —5y% =3y + D)y + 9" + - + 2y + 1)
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